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PRIMER	
  GRADO	
  DE	
  MEDICINA.	
  EJERCICIOS	
  TEMA	
  13	
  
CADENA	
  de	
  TRANSPORTE	
  ELECTRÓNICO	
  *	
  

1.	
   Poner	
  las	
  siguientes	
  sustancias	
  en	
  orden	
  de	
  tendencia	
  creciente	
  para	
  aceptar	
  electrones:	
  

	
   a)	
  Alfacetoglutarato	
  (produciendo	
  isocitrato).	
  
	
   b)	
  Oxalacetato.	
  
	
   c)	
  O2	
  
	
   d)	
  NADP+.	
  

2.	
   ¿Cuál	
  de	
  las	
  siguientes	
  reacciones	
  podría	
  esperarse	
  que	
  transcurriese	
  en	
  la	
  dirección	
  
mostrada	
   en	
   condiciones	
   estándar,	
   suponiendo	
   que	
   están	
   presentes	
   los	
   enzimas	
  
necesarios	
  para	
  catalizarlas?:	
  

	
   I.	
   Malato	
  +	
  NAD+	
  	
  →	
  	
  oxalacetato+	
  NADH	
  +	
  H+.	
  
	
   II.	
   Acetoacetato	
  +	
  NADH	
  +	
  H+	
  	
  →	
  	
  β-­‐	
  hidroxi-­‐butirato+	
  NAD+.	
  
	
   III.	
   Piruvato	
  +	
  NADH	
  +	
  H+	
  	
  →	
  	
  lactato+	
  NAD+.	
  
	
   IV.	
   Piruvato	
  +	
  β-­‐	
  hidroxi-­‐butirato	
  	
  →	
  	
  lactato+	
  Acetoacetato.	
  
	
   V.	
   Malato	
  +	
  piruvato	
  	
  →	
  	
  oxalacetato+	
  lactato.	
  
	
   VI.	
   Acetaldehido	
  +	
  Succinato	
  	
  →	
  	
  etanol+	
  fumarato.	
  

3.	
   Los	
  valores	
  de	
  E°’	
  de	
  los	
  pares	
  redox	
  conjugados	
  NAD+/NADH	
  y	
  piruvato/lactato	
  son	
  
–0,32	
  V	
  y	
  –0,19	
  V,	
  respectivamente:	
  

	
   I.	
   ¿Cuál	
  de	
  los	
  dos	
  pares	
  conjugados	
  tiene	
  mayor	
  tendencia	
  a	
  perder	
  electrones?	
  Explicarlo.	
  
	
   II.	
   ¿Cuál	
  es	
  el	
  agente	
  oxidante	
  más	
  fuerte?	
  Explicarlo.	
  
	
   III.	
   Si	
  empezamos	
  con	
  concentraciones	
  1M	
  de	
  cada	
  reactivo	
  y	
  producto	
  a	
  pH	
  7,0,	
  ¿en	
  qué	
  

dirección	
  transcurrirá	
  la	
  reacción	
  Piruvato+	
  NADH+	
  H+	
  	
  ⇔	
  	
  lactato	
  +	
  NAD+?	
  
	
   IV.	
   ¿Cuál	
  es	
  la	
  variación	
  de	
  energía	
  libre	
  estándar	
  (∆G°’	
  a	
  25°	
  para	
  la	
  conversión	
  de	
  piruva-­‐

to	
  en	
  lactato?	
  
	
   V.	
   ¿Cuál	
  es	
  la	
  constante	
  de	
  equilibrio	
  de	
  esa	
  reacción?	
  

4.	
   Calcular	
  la	
  fuerza	
  electromotriz	
  (en	
  voltios)	
  registrada	
  por	
  un	
  electrodo	
  inmerso	
  en	
  
una	
  solución	
  que	
  contiene	
  las	
  siguientes	
  mezclas	
  de	
  NAD+	
  y	
  NADH	
  a	
  pH	
  7,0	
  y	
  25°C,	
  
con	
  referencia	
  a	
  una	
  semicelda	
  de	
  E°’=	
  0,00	
  V:	
  

	
   I.	
   NAD+	
  1,0mM	
  y	
  NADH	
  10	
  mM.	
  
	
   II.	
   NAD+	
  1,0mM	
  y	
  NADH	
  1,0	
  mM.	
  
	
   III.	
   NAD+	
  10mM	
  y	
  NADH	
  1,0	
  mM.	
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5.	
   La	
  reacción	
  catalizada	
  por	
  la	
  Alcohol	
  DH:	
  

	
   Acetaldehído	
  +	
  NADH+	
  +H+	
  =	
  Etanol	
  +	
  NAD+	
  

	
   a)	
  ¿En	
  qué	
  sentido	
  se	
  llevará	
  a	
  cabo	
  en	
  condiciones	
  estándar?	
  
	
   b)	
  Calcular	
  ΔG°’	
  en	
  las	
  condiciones	
  A	
  y	
  B,	
  caracterizadas	
  por	
  las	
  concentraciones	
  mostradas	
  

en	
  la	
  tabla	
  siguiente:	
  

	
  

6.	
  Durante	
  la	
  Segunda	
  Guerra	
  Mundial	
  se	
  descubrió	
  que	
  los	
  trabajadores	
  de	
  las	
  fábricas	
  
de	
  municiones	
  perdían	
  peso	
  de	
  forma	
  rápida.	
  Los	
  estudios	
  condujeron	
  a	
  la	
  identifi-­
cación	
  del	
  agente	
  causante:	
  el	
  2,4	
  di-­nitro-­fenol	
  que,	
  aunque	
  llegó	
  a	
  utilizarse	
  en	
  tra-­
tamientos	
  adelgazantes,	
  dejó	
  de	
  utilizarse	
  debido	
  a	
  su	
  toxicidad.	
  ¿Cómo	
  podría	
  expli-­
carse	
  este	
  efecto?	
  

	
  	
  *	
  Para	
  resolver	
  los	
  problemas,	
  utilizar	
  la	
  tabla	
  incluída	
  en	
  la	
  última	
  página	
  de	
  este	
  documento	
  
(de	
  la	
  traducción	
  española	
  de	
  “Lehninger	
  Principles	
  of	
  Biochemistry”,	
  4ª	
  ed.	
  Omega,	
  2006).	
  

	
   Condiciones	
  A	
   Condiciones	
  B	
  

Acetaldehido	
   0,055	
  mM	
   0,055	
  mM	
  

NADH	
   23,9	
  mM	
   0,239	
  mM	
  

Etanol	
   25	
  mM	
   25	
  mM	
  

NAD+	
   25	
  mM	
   25	
  mM	
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